

R M M

ROMANIAN MATHEMATICAL MAGAZINE
www.ssmrmh.ro



In any $\triangle ABC$ the following relationship holds:

$$\sqrt[4]{\frac{m_a m_b m_c w_a w_b w_c}{r^6}} \geq \sum \left(\frac{n_a}{h_a} + \frac{2r_a}{s + n_a} \right)$$

Proposed by Bogdan Fuștei-Romania

Solution by Soumava Chakraborty-Kolkata-India

$$\begin{aligned} \text{Stewart's theorem} &\Rightarrow b^2(s - c) + c^2(s - b) = an_a^2 + a(s - b)(s - c) \\ &\Rightarrow s(b^2 + c^2) - bc(2s - a) = an_a^2 + a(s^2 - s(2s - a) + bc) \Rightarrow s(b^2 + c^2) - 2sbc \\ &\quad = an_a^2 + a(as - s^2) \\ &\Rightarrow s(b^2 + c^2 - a^2 - 2bc) = an_a^2 - as^2 \Rightarrow an_a^2 = as^2 + s(2bccosA - 2bc) \\ &\quad = as^2 - 4sbcsin^2 \frac{A}{2} = as^2 - \frac{4sbc(s - b)(s - c)(s - a)}{bc(s - a)} \\ &= as^2 - \frac{4\Delta^2}{s - a} = as^2 - 2a \left(\frac{2\Delta}{a} \right) \left(\frac{\Delta}{s - a} \right) = as^2 - 2ah_a r_a \therefore n_a^2 + 2h_a r_a = s^2 \\ &\quad \Rightarrow \frac{n_a}{h_a} + \frac{2r_a}{s + n_a} = \frac{sn_a + n_a^2 + 2h_a r_a}{h_a(s + n_a)} = \frac{sn_a + s^2}{h_a(s + n_a)} \\ &= \frac{s(s + n_a)}{h_a(s + n_a)} \Rightarrow \frac{n_a}{h_a} + \frac{2r_a}{s + n_a} = \frac{s}{h_a} \text{ and analogs} \quad \stackrel{\text{summing up}}{\Rightarrow} \sum \left(\frac{n_a}{h_a} + \frac{2r_a}{s + n_a} \right) = s \sum \frac{1}{h_a} \\ &\quad \Rightarrow \sum \left(\frac{n_a}{h_a} + \frac{2r_a}{s + n_a} \right) \stackrel{(1)}{\cong} \frac{s}{r} \end{aligned}$$

R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro

$$\begin{aligned} m_a w_a &\stackrel{\text{Ioscu}}{\geq} \left(\frac{b+c}{2} \cos \frac{A}{2} \right) \frac{2bc \cos \frac{A}{2}}{b+c} = bc \frac{s(s-a)}{bc} \Rightarrow m_a w_a \geq s(s-a) \text{ and analogs} \\ &\Rightarrow \prod (m_a w_a) \geq \prod (s(s-a)) = s^4 r^2 \\ &\Rightarrow \sqrt[4]{\frac{m_a m_b m_c w_a w_b w_c}{r^6}} \geq \sqrt[4]{\frac{s^4 r^2}{r^6}} = \frac{s}{r} \stackrel{\text{by (1)}}{=} \sum \left(\frac{n_a}{h_a} + \frac{2r_a}{s+n_a} \right) \text{ (Proved)} \end{aligned}$$